EARAROBEEIERT — 2 N— IBISH —F

2012118108 (+) SH%=3A

LNl Y R 2 %

REEFI

CES&)

HEE] B

(xwlw | lmEmml - |2 5 oom &

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

ABICOVWTRDTEEERROODE. TR LIV,

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S o | FIEEZ 2:01.7 6-8-9 |34.7| — 4 478 | BEIE# (3ER)
1 3| ¥MRITIZ A 55.0 =) 4 | B HFTLyRIST-5T47F
R:TFGAT7 XML B:9IX2Y =T YIARZLT7—L
7 B 2 | SHERK 2:02.0 14-12-11 [34.9| — 2 516 | KEFF— (%)
2|7 15| Mo vT7—a 54.0 (1 3/4) o | 8 7S —n
RGATAT v — B:TTLNHF— XF iEh
> . ¢S 42 | HHEXH 2:02.3 16-16-13 [ 35.0 | — 8 464 | EBFIA (@)
318 |17| ¥ RNVTANRT 5.0 @ 0 | 8 ¥ITLy k5T 5747
SANRTNGR B NLA E- 7 N 27
. -5 4 2 | IHRS 2:02.3 1-1-1 37.2| — 6 434 | BREE (EH)
4 5|YL=7YF— [B] 54.0 ) 4y | ) EBEA-X55T
RiAAvagLyy BIL7YF— AT RS
. R s 2 | JIIESH 2:02.4 10-9-11 | 35.2| — 13 | 450 |/NEfmBL (i)
5011 b—tE>D1> KT 54.0 (7E) -2) Bl
R:TTxAXEx%AL B:T7—Keq> BREEHM IXT177—L4
LS . 4 o2 | EHE 2:02.5 10-12-13 [35.2| — 14 | 438 |=EEE (EF)
61510 '7'(/77*(1 55.0 (1/2) (48) %) 1>
R:TA—T4FAF=—ZY> B:VNITT—FK Pal:bie)
R SN it 2 | BRLiRKA 2:02.5 18-18-17 [34.9| — 3 504 | #ibA=— (FiH)
7lglig| 7>7 V> I=> * 50 L) +8) LT P
RiATARTIN BFLTAYT FEHIS
. L SRR . e — THIE (E#)
8 MIESUCE P i 2 g 2(/]0%:? 10-15-16 | 35.2 12 (4_6:) e
R:viNygLHT1 BETYS =t e
BT 4 o2 | EHEERH 2:02.7 9-7-6 |35.8| — 7 446 | EEBL (i)
9|59 |FFTN-R5— 8.0 (1/2) oy | EEEX
R:FFHATFFLTd BTFHIHILYUR HRH T 77— L4
2L S 4 2 | R. L=T7 2:02.7 6-9-9 |35.7| — 5 452 | TERER (i)
1opl 7| XTFNI7/ 55.0 5¢) o | ® $57Ly k5575747
R ZAFA D=L K B:/X—)b)N—1) — EvJLy RKTr7—L4
SN e £ 2 | HRHE— 2:02.9 16-16-17 [35.3| — 16 | 450 |FAEAEAIME (i)
T ; IPRESPAS “° ] 550 {4 1/a) Lo |FUES
RV TFTIALR Bixv vy FHFRU—L HE BE
-2 : 4 2 | WHEEE 2:03.0 5-4-4 | 36.4| — 9 478 | AZHEERIE (EH)
1208 4 —//7”(7]—\'7 55.0 (1/2) (+8) EU—IT"%?‘?
L:xA1=ZY7—2 B:vFFNCKR N E%5%
; 4 2 | BBIEH 2:03.0 10-9-6 |36.2| — 1 474 | = (EH)
137114 V7 €ERAAY/T7 55.0 (NF) (6) | PWBH
L:Fq=TANT N BX—=T1 I RT—IFK B FHI77-L4
. . e 4 2 | ALHEF 2:03.1 6-5-4 | 36.4| — 10 | 474 |BABE (E#)
1400 8 J—-I Ko1K [B] 55.0 (3/4) -2) EHE
RV TFTHA R BiAaqOrY > 77— L
s = o2 | BRBE 2:03.3 332 |36.8| — 11 460 | REEE (FH)
15kl 6| 73 > FLEY b 55.0 (1 1/) (+4) wEie
RL:T7TxR8%FL BV NTH— L4 ~NA IS
. . o2 | HBHIE 2:03.4 3-5-6 |36.6| — 17 | 468 | LEEZ (E#)
16/1|2|7Z7INTE 5.0 (1/2) o) | FiEEE
R:TFATLREA L B X7 MY — H2 0 S
B 42 | AWERIR 2:03.6 14-12-13 [36.3| — 15 506 | REEE (EH)
17|13 - X% =T 8.0 M Lo |BAEX
A= X4 2214 B:ib—trT74—21— FBEZX %Y K
N S N KEEFAFR :04. = . — FHE (ER)
18l8l1gl FVV T rE R [B] a2 a0 S i B e
Rib—tP 422 By vHFy o BEZ %Y K
@ 21 L
£y 49.7-36.6
NO>a24 L | 12.4-10.8-11.1-11.9-12.8-13.0-13.1-12.2-12.3-12.1
® I—F—&EBIERL
13—7-
Aol=5"= 5-16-(2,6)4(3,7,8)9(1,11,10,14) (13,15)-(12,17)-18
33—+ — 5=16,6,4(2,8)9,3(1,7,14) (13,10,15)11(12,17)-18
41—F— 5=(16,6) (4,8) (2,9,14) (3,7) (1,15) (13,10,17)11(12,18)
[ RN
B Oj 3 620M 794K 3-15 760 & 2-7 710M &R 3-15-17
BB 3 240H 3-17 1,850M B E Balls) 2,130M EE Sallomil 101,000M
15 190M 15-17 2,930MH B H 3-15 4,730H
17 820M




